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1. What'positive ntiiiber »minimiizes the sum of x and its reciprocal?
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2. The sum of one number and 3 tlmeés a second nu%bgr is 36. What numbers sh01111d be selected so tl/lat>
thelr‘ﬁ%ﬁﬁﬁt‘ﬁ’fﬁ&mﬁ 45'possibie? = 3b-by= ' AV P{b)=0
By Xt oy = s 50% Pe)<o 4
X'=306 -3y (53 Product is max
P= (36-3y = 3 Lohun 1 = 6-
lj lj Y=30-3(L)=1§
P-= 3(% 39
P'=3L-Ly Numbers: 13 ¢6
3.—Find two positive numbers whose sum is 110 and ‘progiict is a maximum.
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=X (110X tj
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When x = 593.

4. A farmer wants to fence an area of 1.5 million square feet in a rectangular field and then divide it in half
with a fence parallel to one of the sides of the rectangle. How can he do this so as to*‘i’ﬁ(;ﬁi?ﬁWé*Wé‘ﬁﬁf
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5. Arectangular box with a square base and open top must have a volume of 32,000 cm3. What are the

dimensions of the box that minimize the amount of material used?
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6. 1f 1200 cm? of material is available to make a rectangular box with a square base and an open top, find

the largest possible volume of the box.
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7. The top and bottom margins of a poster are each 6 cm and the side margins are each 4 cm. If the area of

the printed material on the poster is fixed at 384 cm?, find the dimensions of the poster with the smallest
e e
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8. A poster is to have an areaLn1 of 180 in? with 1-inch margins at the bottom and sides and a 2-inch margin at

the top. What overall poster dimensions will m
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An open box is to be made from a 16-inch by 30-inch piece of cardboard by cutting out squares of equal
size from the four corners and bending up the sides. What size should the ég{g{ ares be to obtain a box
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10. A 216-m? rectangular pea patch is to be enclosed by a fence and divided into two equal parts by another

fence parallel to one of the sides. What dimensions for the outer rectangle W111 require the smallest total
Jeng gb%gﬁenvg&@ How much fence will be needed? -
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11. What two nonnegative real numbers with a pstmct-ofz’ﬁ have the '
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12. Find numbers a and b such that their v@g&&gg@ct is as large as p0551b1e and the sum of three times a and b is
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13. Find the dimensions of a box with a square base that has a:
a. volume of 12 ft3 and minimal surface area.
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14. You are designing a rectangular poster to contain 50 in2 of printing with a 4 inch margin at the top and

bottom and a 2 inch margin at each side. What overall dimensions will minimize the amount of paper
)
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